C2 : EXPONENTIALS AND LOGARITHMS 

1) Given that log2 x = a, find, in terms of a, the simplest form of

(a)
log2 (16x),  

(2)


………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(b)
log2
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 (3)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..


(c)
Hence, or otherwise, solve






log2 (16x) – log2
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giving your answer in its simplest surd form.

(4)


………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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2) 
Given that log5 x = a and log5 y = b, find in terms of a and b,

(a)
log5
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,

 (2)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(b)
log5(25x(y). 

(3)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

It is given that log5
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 = 1 and that log5(25x(y) = 1.

(c)
Form simultaneous equations in a and b.

(1)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(d)
Show that a = (0.25 and find the value of b.

(2)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….


Using the value of a and b, or otherwise,

(e)
calculate, to 3 decimal places, the value of x and the value of y.

(3)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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3) 
a) Given that 
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(3)


…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..


b) Hence , or otherwise, find the roots 
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 and 
[image: image9.wmf]b

 , where 
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(3)


…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..……………………………………………………………………………………………………………………………………………………………………………………………………………………


Did your score match your estimated ‘success level’ ?

	Skill
	Qu
	(
	(
	(

	I can solve problems using the laws of logarithms     
	
	
	
	

	I can solve logarithmic equations     
	
	
	
	

	I can solve exponential equations     
	
	
	
	


            ( Yippee!! - I got all the questions correct.

            ( I got most of the questions correct.
                ( I made too many mistakes and need to practise this topic more.

	Top 3 topics I need to study further are:

	


Score:		Percentage:			Grade:		    Effort:





Low                 High


 O     O     O     O	





Overall, for this assessment I think my success level is: 
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